258

B4R EIZFEXREDODODQ) / Color Type(End of product number )

BT9=h)LT—4 / Technical Datall

#{TRJLY / Recommended torque

FNA 7T ILEM3x10 / Hexagonal M3-10 : 0.2N*m
ERAYE S E AM5x8 / Self-tapping pan head M5-8 : 1.5N*m

FDhE R / Other screws : 0.3N*m ~ 0.6N*m

HERINZ / Components

No. 2% / Part name #E / Pcs #E / Material - FEAE / Color-Finish
1 a—+r—7Javy . T ILEH (¥ Ak ADC12 DIR— TSy
Corner block Diecast aluminium ADC12 Silver , Black-Painted (Unfinished inside)
) AR ) TILEHRLH A6063S-T5 DW=, TSI TINIAIIT
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
3 IL—L . T IVSHRHI# AB063S-T5 DIWIR—  TTZYT T ILIA I T B
Panel support frame Extruded aluminium A6063S-T5 Silver , Black* Anodized with clear coating
4 A% ) T ILSHR A1100P DIWIR—  TZ9Y-TILTA
Panel Aluminium A1100P Silver , Black* Anodized
5 HN— ! T ILSHR A1100P DIWIR—  TZ9Y-TILTAh
Top cover Aluminium A1100P Silver , Black* Anodized
6 THIN— i 7ILEHR A1100P DIN—, TSI FILIA
Bottom cover Aluminium A1100P Silver , Black* Anodized
, a—F—H—F o TPE (T5RKT) TIvY,J— RAE— Lk
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
8 X )oTNURIL 1 PU PAG6 . ABS AWGCH IS0, TL—
Carrying handle Black , Gray
9 ER{FE R (MMM3 x 8) " % ZYTILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
0 BAER GREIFUTHRILEMS x 10) o &% =SHEsai—k
Screw (Hexagonal M3-10) Steel Black trivalent chromate
" BAHE R (FR2YE M5 x 8) . &% Z{foOr—k
Screw (Self-tapping pan head M5-8) Steel Trivalent chromate

8% / Code | 7JLE4—X / Aluminium enclosure a—4—H—FK / Corner guard X2 1\UR L / Carrying handle
SBB 2 )LsS— / Silver 7599 / Black 759% / Black
SGB < )LsN— / Silver 4'L— / Gray 75v% / Black
SNB 2 )LsS— / Silver FM1E— / Navy 7597 / Black
SRB 2 )LsX— / Silver LYk / Red 759% / Black 5 R T
SBG 2 )LiS— / Silver J5v7% / Black J'L— / Gray Bt ahF BT 2 R T — 2 @ L“l
SGG < )LsN— / Silver 4S'L— / Gray J'L— / Gray
S NG oIS — ) Siver FAE— / Navy FL—/ Gray _ TAKACHI ELECTRONICS ENCLOSURE CO., LTD. | Portable Aluminium Instrument Case with Handle RS
SR G oS — 7 Siver LR 7 Red 5 — ) Gray 7 5%/ Approved #%[X]/Checked #[X/Created FIF /Product number
BB B J5v% / Black J5v% / Black J5v% / Black iR x Fap:N AUGH115-25-30-J010 sy
B GB 75wv% / Black J'L— / Gray 75v% / Black
BNB J5v%4 / Black #AE— / Navy J5v% / Black {FRLE/Date 2025/06/21 177
BRB JG5w4 / Black LwE / Red J5w94 / Black AEEOEEE I/ SHIDTFERIRITRELET ., / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




250+0.5 (5r— R4\ / External)

R24

B-B(1:55)

300+0.5 (r—R 4\ 2 / External)

F view

253

203

R52

D view

104

) S— — g

25

E view

A-A(1:55)

286

- —

93

308

C-C(1:55)

[ 1

108

B view

243

T

s D-D(1:55)

g

L

~

»

o’

f<‘ ® o® )

|

>

™

o

+

o

fna/Title
TAKACHI] AW FEHIE aA—F—A—FEFr) T 75— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Portable Aluminium Instrument Case with Handle
B/ Approved X /Checked #1[X]/Created FIFE /Product number REE/Scale
1:5.5
iR e A AUGH115-25-30-J 0 sy
{ER B /Date 2025/06/27 2 /1

AEEOEFEIIRARSHINDTFERIXICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C ¥k / C Frame

250 225
(s
™~
= O o 0 =
2.5
\""J_‘—._F(I
28 127.5 28 4-255
<
~ o A\
[/ /]
S 2-M3FBHSR 5
2-M3 Countersunk
%@ / Front side X xEEFEHE / Same on the other side.
D {8I#% / D Frame
(g
\""J_':F(l
N A\
[\ /]

@ / Front side

3.3

3.3

0) O

O

O

ZEE / Back side

% / Back side

a4/ Title
TAKACHI| BXEHANhFERIE B4R @) G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7&K E2/Approved & /Checked #1[X|/Created FIFE /Product number RIE/Scale
1:2
iR x ] A R—/Page
H115 - D300 YERH /Date 2025/06/10 3 /1

AREDZBEEIMRASHINFEHTEICRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




225

200

@)
\5%3

N

2-M3FH 37}
2-M3 Countersunk

14

6.8

4.5

29

1.6

147K / Total 4 pieces

4/ Title
TAKACHI eIt S FERT _ o |
wagisrrERTE | s =
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
B/ Approved X /Checked #IX]/Created R /Product number RE/Scale
1:1
iR : e R
W250 {ERX B /Date 2024/05/15 4 /17

AEEOEFEIIRARSHINDTFERIXICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /NARJL / A Panel

200 1.5

104

REES—MA

Surface protective film side

A#Ti% / Max dim. 96 £ 0.3

B~ / Max dim. 192 £ 0.5

M / Front side ZEM / Back side

B /\%x)L / B Panel

REES—MMA

Surface protective film side

M@ / Front side M / Back side

fn 4/ Title
A == o
TAKACHI| X2 hFERIE ISR () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
T = - RE/Scale
K 8/ Approved 1] /Checked #1[X]/Created R /Product number
1:2
iR £ fiE) A ~R—/Page
H115 — W250 {ERX B /Date 2024/07/25 5 /17

AREDEFIEIIHRXESHADTFER T EICRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




239.4

4-R14.7 990 4-24.5 9

E#~ti% / Max dim. 253+05

<
. o
g R
REEL—MEY
Surface protective film side
A%hT% / Max dim. 20305
@ / Front side ZZM / Back side

4/ Title
BRRUINTFERTE 15— @)=
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
72/ Approved %X/ Checked HIX/Created | E!F/Product number Rrﬁ/;s.czalg
thiR 3 B e
W250 - D300 {ER B /Date 2022/11/16 6 /7
AREDOEFEEBRASHIDTFEMIEICIRBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO,, LTD. All Rights Reserved.




239.4

4-R14.7 990 4-24.5 9

E#~ti% / Max dim. 253+05

<
. o
g R
REEL—MEY
Surface protective film side
A%hT% / Max dim. 20305
@ / Front side ZZM / Back side

4/ Title
BRRUINTFERTE ThA— @)=
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
72/ Approved %X/ Checked HIX/Created | E!F/Product number Rrﬁ/;s.czalg
thiR 3 B e
W250 - D300 {ER B /Date 2022/11/16 1771
AREDOEFEEBRASHIDTFEMIEICIRBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO,, LTD. All Rights Reserved.




	AUGH115-25-30-□□□.pdf
	AUGH115-16-30-□□□ Model (1).pdf
	AUGH115-25-30-□□□



